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Review

Given a quadrilateral ABCD, if we know that it is a parallelogram, name four 
other things that we know about it.

A B

CD

Given a quadrilateral ABCD, if we know that it is a rhombus, name three other 
things that we know about it.

A B

CD

Theorem 24: The sum of the angles of a quadrilateral is 360°.
Def: A rectangle is a quadrilateral each of whose angles is a right angle.
Corollary to Theorem 24: A quadrilateral is equiangular iff it is a rectangle.
Def: A parallelogram is a quadrilateral whose opposite sides are parallel.
Theorem 25: The opposite sides and angles of a parallelogram are equal.
Theorem 26: The diagonals of a parallelogram bisect each other.
Theorem 27: A quadrilateral is a parallelogram if its opposite sides are equal.
Theorem 28: A quadrilateral is a parallelogram if its opposite angles are equal.
Theorem 29: A quadrilateral is a parallelogram if two opposite sides are both 
parallel and equal.
Theorem 30: A quadrilateral is a parallelogram if its diagonals bisect each other.
Def: A square is a quadrilateral all of whose sides and angles are equal.
Every square is a rhombus.
Def: A rhombus is a quadrilateral all of whose sides are equal.
Theorem 31: All rectangles are parallelograms.
Theorem 32: All rhombuses are parallelograms.
Theorem 33: The diagonals of a rectangle are equal.
Theorem 34: The diagonals of a rhombus are perpendicular.
Def: A regular polygon is one that is equilateral and equiangular.
Def: A trapezoid is a quadrilateral that has exactly one pair of parallel sides. The parallel 
sides are called the bases of the trapezoid, and the non‐parallel sides are called its legs. The 
pairs of angles that include each base are called base angles.
Def: An isosceles trapezoid is a trapezoid whose legs are equal.
Theorem 35: The base angles of an isosceles trapezoid are equal.
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Def: An isosceles trapezoid is a trapezoid whose legs are equal.

Theorem 35: The base angles of an isosceles trapezoid are equal.
Given: ABCD is an isosceles trapezoid with bases AB and DC.
Prove: ∠A=∠B and ∠D=∠C A B

CD

Theorem 36: The diagonals of an isosceles trapezoid are equal.

Given: ABCD is an isosceles trapezoid with bases AB and DC.
Prove: DB=CA.

A B

CD
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If a quadrilateral is a trapezoid, then its diagonals cannot bisect each other.

Given: ABCD is a trapezoid
Prove: AC and DB do not bisect each other.

A B

CD

HW #1 (submitted Friday, 11/7)
• Ch 1 Review Problems pp. 36‐38
• Start working on Geometry badge on Khan Academy

HW #2 (submitted Friday, 11/14)
• Ch 2 Review Problems pp. 71‐74
• Ch 3 Review Problems pp. 124‐128
• Khan Academy exercises:"Introduction to Euclidean geometry," "Angles and intersecting lines"

HW #3 (submitted Friday, 11/21)
• Ch 4 Review Problems pp.176‐180
• Khan Academy exercises: "Congruence"

HW #4 (submitted Friday, 12/5)
• Ch 5 Review Problems pp. 206‐209
• Work toward mastery of practiced Khan Academy exercises in "Introduction to Euclidean Geometry," 
"Angles and Intersecting Lines," and "Congruence"

HW #5 (submitted Monday, 12/15)
• Ch 6 Review Problems pp. 250‐254

HW #6 (due Friday, 01/09)
• Ch 7 Review Problems pp. 292‐295
• Khan Academy exercises: anything that has been recommended by me!
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